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B[R 16,024, 440 + 5,159, 428 21,183, 868
EEAGE 16, 024, 440
EERE 5,159, 428
Z Ot [ 1 16,024,440 x 42.86% ( 30% + (1 — 30%) ) 6,868,074
KB RE 21,183,868 + 6,868,074 28,051, 942
—REEEE 28,051,942 x 53.85% ( 35% = (1 — 35%) ) — 7,012 15,098, 058
EX T 28,051,942 + 15,098, 058 43,150, 000
EEREELNE 43,150,000 x 10.00% 4,315,000
EBEIH 43,150,000 + 4,315,000 47, 465, 000
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EiER{ 21,183, 868
MITRETEER 21,183, 868
MITRETEER 21,183, 868
MITRLBHER 16, 024, 440
ETE#EE 28, 500
1 BHIHE 1.00 28,500 28, 500
=
MITRLBHER 15,995, 940
2 MITREEBEROD 152.00 90, 600 13,771, 200
B
3 MITREEHERKQ 18.00 106, 180 1,911, 240
H
4 ITEE 10. 00 28, 500 285, 000
G}
5 IRERE 1.00 28, 500 28, 500
=
HiERE 5,159, 428
EHERRE 57,120
6 EFARE 1.00 57,120 57,120
=
EliEmE 5,092, 608
T EH& 1.00 634, 808 634, 808
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8 EH=EMI - BH - HEE 1.00 4,457, 800 4,457, 800
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9 EBHMER 1.00 9,700 9,700
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2 [ R - BKTE By H = B i %8 5 &
B (A)
A 0.50 57, 000. 00 28,500
= g YEZ8EH : 1.00[= 28, 500. 00 28,500
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B MTREEHEERD 1BH&Y
2 L R - KT By B E B i %8 5 &
A (A)
A 1.00 57, 000. 00 57,000
Hittg
A 1.00 33, 600. 00 33, 600
= g {EX8EH : 1.00H 90, 600. 00 90, 600
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B MITRETEERKOQO 18&Y
2 L R - KT By B E B i %8 fils
A (A)
A 1.00 57, 000. 00 57,000
Hittg
A 1.00 33, 600. 00 33, 600
HEm (A) LSRN
A 1.00 9, 800. 00 9, 800
Hittg B R 4
A 1.00 5, 780. 00 5,780
= g {EX8EH : 1.00H 106, 180. 00 106, 180
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AF:ITEE 1EHY
2 L R - KT By B E B i %8 fils
A (A)
A 0.50 57, 000. 00 28, 500
& H YEZHRES : 1.00[H 28, 500. 00 28,500
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2 L R - KT By = B i %8 5 &
A (A)
A 0.50 57, 000. 00 28, 500
& B YEZREH : 1.00[H 28, 500. 00 28,500
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& EERARE 1KLY
% E R - kTiE By = B %8 i &
EERARE
% 1.00 5,712, 000. 00 57,120
& it fEEfEH - 1.00K 57,120. 00 57,120
&5 :1
2 EiEHR 1KLY
2 L R - BKTE By = B i %8 5 &
AISZ{E 1
=] 292.00 1, 290. 00 376, 680
B 292. 00 209. 00 61,028
AR 5%
=] 292.00 120. 00 35, 040
TLERUSDH
B 292. 00 330. 00 96, 360
BuERE. EIEER. [EE
=] 292.00 225.00 65, 700
& &t fEEEEH - 1.00K 634, 808. 00 634, 808
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B BEEMI - BH - BEE 1KLY
% E R - BRTE BARL 2 B & H = i &
EREMELE
= 1.00 666, 000. 00 666, 000
EBEEH
=] 292.00 11, 400. 00 3, 328, 800
EREREE
= 1.00 463, 000. 00 463, 000
& it YEZEEH - 1. 00K 4, 457, 800. 00 4, 457, 800
&5 :9
&% EBRRR 1Ky
% E R - BRTE BARL 2 B & H = i &
XBEBRRSE
= 1.00 9, 700. 00 9,700
& &t fEEfEH - 1.00K 9, 700. 00 9,700




